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Name Surname ID: Test id. AUTO

Answers

Q1:y; = lifwx; +b>1—-&else — lifwx; + b < —1 + xi;

Q2: The trick is to transform the data from its original space x into a new space ®(x) so that a linear
decision boundary can be used.

Q3: CRoss-Industry Standard Process for Data Mining.

Q4:2, 4
Q5:1,2 7
Q6:
[ id [ X, | % | V| [ it | Wo | Wi [ W, | XW [f(XW)] error | delta, | delta, | delta, |
I I A 1 =il 0 0 =il =il 2 0,38 08 08
b 0 2 1 2 02 08 08 1,4 1 0 0 0 0
c 1 0 -1 3 02 08 08 06 1 2 08 08 0
4 = 0 08 02 1 2 0,38 08 08
Lampda =0.4 5 -0,2 0,8 16 3 1 0 0 0 0
f=sign 6 02 08 16 06 1 2 08 08 0
7 -1 0 1,6 0,6 1 0 0 0 0
test 8 -1 0 1,6 2,2 1 0 0 0 0
ﬂmlﬂ 9 -1 0 16 =il -1 0 0 0 0
1 0 0 -1 10
2 1 1 1 11
3 2 0 1 12

Q7:3



Q8:

Plan Y N Sex Y N
Ban  Ys b Mo o [ 70 | 80 | 90 | 90 100100 | 110 | 120 | 130 |
normal  3/4 1/4 F 2/5 3/5 N N N Y Y N N Y Y
Delta Gain = 5/9 * 2/5 + 4/9 * 1/4 = 3/9 Delta Gain = 5/9 * 2/5 + 4/9 * 2/4 = 4/9

M<90 Y N M<100 Y N

<90 5/7 277 <100 1/4 3/4

>=90 0 22 >=100  3/5 2/5

Delta Gain = 7/9 * 2/7 = 2/9 Delta Gain = 4/9 * 1/4 + 5/9 * 2/5 = 3/9

weightjiweight <120 212 0 <110 216 416
90

travel F N 1/9 0.06 0.07 >=120 217 5/7 >=110 113 213
Delta Gain = 7/9 * 2/7 = 2/9 Delta Gain = 6/9 * 2/6 + 3/9 * 1/3 = 3/9
travel F 130 Y 1/9 0.06 0.07
travel M 70 N 1/9 0.06 0.07
travel M 80 N 1/9 006  0.07 Split by: Minutes
normal M 90 Y 1/9 021  0.255
Error =2/9
normal M 120 Y 1/9 0.06 0.07
normal  F 100 Y 1/9 0.06 0.07
Alpha = 1/2 * In((1-2/9)/(2/9)) = 1/2 In(7/2) =
normal F 110 N 1/9 0.21 0.255 0.626
travel F 100 N 1/9 0.06 0.07
Wil = 1/9 * g0.626 = (.21
Gain Function = Misclassification Error Z=0.84 /9 .e . 0
misclassified
wit1 = 1/9 * 0626 = 0.06 classified

correctly
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